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"~ English Version

Describe the procedure of registration of trade union under BIR act 1946 14
OR

Describe the various punitive action under BIR ACT 1946 14

Answer the Followin ¢ Questions (Any four ont of six) 04

BIR Act has the industrial conflict redressal procedure

(A)Uni -layer (B) Bi-layer

(C) Tri-layer (D) None of them

_word is not addressed for the person who has master and
servant relationship for any business, trade and commercial & service
establishment and received remuncration with respect of rendering services.

(A)Employee (B) Labourers

(C) Workman/Worker (D) Subordinate

In BIR Act from Section to are mentioned for
penalties '

[>010to O 1 2>001to 010

(CY011 to 10} 4>101t0 110

Among is not consider as an employee under BIR ACT
(A)YEmployer of Hand mill (B) Employee of Co-operative society
(C) Police superintendent of (D) employee of AMC

Sabarmati sub jail



Q2(A)

Q2(A) -

Q2(B)

Q3(A)

Q3(A)

M o3y -7

Powers of Labour officers are mentioned at BIR ACT under
Section

(A)34 (B) 24

(C) 14 (D) 04

Bombay Industrial Relation Act is dissolved and merged it with
Maharashtra Industrial Dispute Act year

(A)1% September 2017 (B) 1 June 2017

(C) 1* April 2017 (D)1* January 2017

Give definition of ‘factory’ and Explain various provisions regarding
health under the Factories Act, 1948, -

OR ,
Give definition of ‘Adult’ and discuss various provisions regarding working
hours of adults under the Factories Act, 1948,

Answer the Following Questions (Any four out of six)

minimum number of workers are required in the factory for the
mandatory appointment of a safety officer,
() More than 100 (D)More than 500
(E) Less than 750 (F) More than 1000

minimum number of workers are required in the factory for the
mandatory for canteen facility,

(E) More than 100 (F) More than 150
(G)YMore than 200 (H) More than 250
Section 49 of the Factories Act, 1948 says about
(A) Security Officer (B) Welfare Officer
(C)Créche {D) Canteen
weekly hours refer at factory at 1948

“(AY72 hours _ (B) 60 hours

(C)54 hours (D)48 hours

A person who has ultimate control over the affairs of the factory under the Factories
Act, 1948 is called as

(B) Chairman (B) Occupier
(CYManager (D) Managing Director
The first Factories Act was enacied in

(B) 1881 (B)1885

{C) 1895 . (D) 1897

Describe the times when the maternity benefits are payable. what are those

benefits?
OR

State the schemes provided under the EPF&MP Act. Explain important
provisions of the each of them.
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Q4(A)
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‘Answer the Following Muitiple-Choice Questions (Any three out four)

Can gratuity payable to an employee under payment of Gratuity Act, be attached
in execution of any decree of a Court?

How is PMRPY helpful to the Employer?

What is the latest Amendment passed in the Payment of Gratuity Act, 19727
What is the penalty clause under The Maternity Benefit Act?

Describe the registration of establishment process and also mention the legal 14
provisions for the residential hotels, restaurants and eating houses under
Bombay shop and establishment act1948 -

OR -
Describe the Difference between BIR ACT 1946 and Industrial Dispute Act 14
1947

Answer the Following Questions (Any three out of five)

form is used for the change in case of area within 15 day at
Bombay shop and establishment act 1948

(A)AA- FORM ‘ (B)B- FORM

(CYC-FORM (D)E -FORM

section is empowered of state government to enforee of act
with in areas of local authorities under Bombay shop and establishment

act1948

(A) 43 (B)42

(C) 41 ' (D)40

Section 39 is renowned as for under Bombay shop and
establishment act 1948 '

(A) Caring (B)Créches

(C) Clearing (D} Cleanliness

days of period must be required as the continuous days of
services under section 35 of Bombay Shop and establishment Act

(A) 238days (B)239days

{C) 240day (D)241days

Under Bombay Shop and Establishment act 1948 Young Persons must be
allowed toworkfor ~ hours per 'day.

(A) 3 hours (B)4 hours

(C) 5 hours (D)6 hours
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PAPER-408 HUMAN RESOQUFCE PEVELOPMENT '
Hareh — 2019 T@':‘za"ii Ilarks:7{
Q-1 (a) Define HRD and Discuss its Characteristics 1dy
: OR
(a) Discuss need and Scope of HRD
(b) Reply in brief [Any four| ‘ {43
(i) Difference between HRD & HRM .

(i)  Difference between Line & Staff Function
(1iiy Competence — (Meaning)

(iv)  Counseling & Coaching

{v) Difference between Recruitment and selection
(vi)  Any two objective of HRD

Q-2 (a) What are the factors affecting HIRD system Designing? (14
OR
(&)  Which principles are to be followed at the time of HRD system
Designing? :
()  Attempt any 4 (Explain meaning in brief) {4

(i) Retention
{ii) Job Analysis
(iii) Role Analysis
(iv) Induction
¥) Work System
(vi).  Self renewal System
Q-3 (2) What is career Planning? Why it is important for job satisfaction amd (L5

productivity?
OR
(a) What is career development cycle? Discuss different stages.
(b) Explain meaning of any 3 of the following, . 3
)] Career Anchors
(ii} Succession Planning
(iii)  Career System
(iv) Manpower Planning
) Career plateau
Q-4 (a) Whatis employee empowerment? Explain the process of {id:
empowerment.

OR

(2) What is employee participation in Management? Why is it important?
(by Explain in brief (Any 3) {3
(i) Employee Engagement
(i) Quality of work life
(iiiy  Coaching
(iv) Mentoring
{v) Impact of unhealthy quality of work life.
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English Version

Discuss the objectives, need and importance of Labour Welfare
OR

Discuss the philosophies of Labour welfare. mentions it merits and demerits,

Answer in one or two lines (any four)

What does the principle of Association mean?

What is the social concept of Labour welfare?

Which are the three agencies of labour Welfare?

Which sections of fuctories Act provides for canteen and Labour Welfare officer ?
Write any two Labour welfare legislation in India ‘

Discuss the functions and duties of Labour welfare officer
OR
Discuss industrial Health. -

Answer the following Questions (four out of five)
What is the status of Labour welfare officer ?
Define factory.

When was Worker Education Board established.’
Define industrial Hygiene

Defire an Accident,

Discuss the problems of Women labour.
OR
Discuss the problems of Industrial housing.

Answer the foilowing Questions (three out of five)
What is child labour? ‘

What is unorganized sector?

What is absenteeism?

What is turnover?

1%
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14
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Q4(A)
Q4 (A)
Q4 (B)
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Discuss Social security in Unorganized sectors.
OR

Discuss Social security in the Developing countries.

Answer the following Questions (three out of five}
What is Social Security?

What is Social Insurance?

When was ILO established?

Give two objectives of Social Security

14

14
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‘English Version

Explain the Appraisal process
OR
Discuss the factors that can distort Appraisal?

Answer in one or two lines (any four)
What is MBO?
What is group order ranking?

Mention any one absolute standard of appraisal method?

What is attribution theory?
What is paired comparison?

Discuss the downward channel of communication?

OR

Discuss the HR- communication Programme

Answer in one or two lines (any five)

What is employee handbook?

What is exit interview?

What is grapevine?

What is the advantage of two-way communication?
Give an example of one -way communication

Discuss HRIS
OR
Discuss benefits of HRIS

Answer in one or two lines (any three)
What is ASP?
What is DBMS?
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What is purpose of HRIS .

What is importance of HRIS 7,

What is Compensation management 7. 14
OR

Discuss special cases of Compensation 14

Answer in one or two lines (any three) 3

Discuss major phases of Compensation management
Define Job evaluation .

What is one objective compensation management
What is job grading?
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Q.1.(A)  List and explain the various approacges to Industrial Relations? (1)
R .
Q.1.(A)  Who are the actors of Industrial Relations? What is their role in 14
maintaining good IR? ‘

Q.1.(B)  Answer any 2: {4

i. What is scope of IR?

ii. What are objectives of [R?

iii. Define Industrial Relations?

(.2, (A)  Define the term Trade Union. Describe the Registration and cancellation {145
process of trade union under Trade Union Act 1926
: OR
Q.2.(A) What is collective bargaining? Define the procedure of collective (1)
bargaining in detail,

—~—
L
T

Q.2.(BY Answerany 4:
i is benchmark case for settlement of the collective

bargaining in India

a) Poona Mazoodur Sangh Vs. G.K. Dutia

b) Tamilnadu electric workers federation vs Madras state electricity
board

¢) baifore vs balfore

d) karsan das and sons Vs Girdharilal

ii. Third party intervention within the organization for the resolution of
industrial conflict is known as
Adjudication
Arbitration
Conciliation

Mediation
iii. Match the following Trade union federation | Year of formation
AITUC ' 1947
CITU _ 1948
INTUC 1920
HMS 1970
iv. is the benchmark case for the registration of trade union

under trade union act 1926
a) M.T Chadersenan vs Sukumar
by S.V Haunumath Rao and other Vs Deputy Registrar of trade
* union and Deputy Commissioner Of Labour and others.
c) A. Ramaswal. vs Registrar of trade union AIR 1962 Madras
high court.231 )
d} none of these.

P o



Q.3. (A)

Q. 3. (A)

3. (B)
i.
i,
iii.
1v,
.

0.4.(A)

Q.4.(A)

Q. 4.(B}
i
ii.
.
iv,
v,

to secnons are related to amalgamation and
dissolution of trade unjon under Trade Union Act 1926
A.0dt0 14
B, 141024
C.24 1027
D. 24 to 34

What is Conflict and Conflict Management? How is it important for an
organization?

OR
What is Discipline Management? How does it help to improve
industrial relations of an organization?

Answer any 3 of 5:
Conciliation

Manifestations of Conflict
Any 2 Causes of Grievances
Suggestion box

- Joint Management Council

What are the Impacts of technology changes on LR.?

OR
Discuss important international labour standards relating to Industrial
Relations.

Any 3 out of 5:

What is rationalization?

Give names of 2 international Trade unions
Trade Union Recognition

Deskilling

Redundancy

(4

(14)

(3)

(14)
(14)

(3)
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